Subtraction from 2,000
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2,000 - 1,776 =
2,000 - 1,597 =
2,000-1,912 =
2,000 - 1,285 =
2,000 - 1,391 =
2,000 -1,124 =
2,000 - 1,864 =
2,000 - 1,904 =
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16.
17.
19.
21.
22.
23.
25.
27.

2,000 - 1,950 =
2,000 - 1,875 =
2,000 - 1,835 =
2,000-1,177 =
2,000 - 1,526 =
2,000 - 1,322 =
2,000-1,170 =
2,000 - 1,905 =

29.
30.
32.
33.
35.
36.

Down

1. 2,000- 1,742 =

2. 2,000-1,524 =

3. 2,000-1,549 =

4. 2,000-1,634 =

5. 2,000-1,101 =

9. 2,000-1,300 =
11. 2,000 - 1,655 =
13. 2,000-1,395 =
14. 2,000-1,788 =
15. 2,000-1,283 =
16. 2,000 - 1,484 =
18. 2,000-1,762 =
20. 2,000-1,351 =
21. 2,000-1,117 =
22. 2,000-1,599 =
24. 2,000 -1,224 =
26. 2,000-1,667 =
28. 2,000 - 1,404 =
31. 2,000-1,255 =
32. 2,000-1,979 =
34. 2,000-1,931 =

2,000 - 1,264 =
2,000 - 1,683 =
2,000-1,974 =
2,000 - 1,534 =
2,000 -1,877 =
2,000 - 1,541 =



Answers




